Negative Zahlen Variante 6 Klasse: Datum:

Subtraktion bis 100 Blatt 102 Name:

@ a) (+45) - (-37) = b) (-30) - (+69) =
C) (_73) - (_46) = d) ("‘27) - ('32) ol
e) (-58) - (+26) = ) (-27) - (-60) =

@ a) (+54) - (-28) = b) (-25) - (+#58) =
© (o1 - (-21) = D (v29) - (-a4) =
e) (-50) - (+25) = ) (-63) - (-88) =

@ a) (+34) - (-33) = b) (-30) - (#36) =
9 (81 - (-41) = Voo - sy o=
e) (-42) - (+38) = " (-35) - (-96) =

@ a) (+43) - (-25) = b) (-43) - (#57) =
9 (o) - (-80) = RGO G R
® (.45 - (+22) = D oay - 1 =

@ a) (+30) - (-21) = b) (-24) - = -6l
©) - (-23) = -42 D (+a0) - (-57) =
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Negative Zahlen Variante 6

Subtraktion bis 100 Blatt 102

@ a) (+45) - (-37) = 82 b) (-30) - (+69) = -99
C) (_73) - (_46) = -27 d) ("‘27) - ('32) =29
e) (-58) - (+26) = -84 ) (-27) - (-60) = 33

@ a) (+54) - (-28) = 82 b) (-25) - (+58) = -83
9 (o - (-21) = -70, V29 - ey = 1
e) (-50) - (+25) = -75 ) (-63) - (-88) = 25

@ a) (+34) - (-33) = 67 b) (-30) - (#36) = -66
) (81 - (-47) = 34 Vo2 - 3 = o1
©) (.a42) - (+38) = 80 D (35 - (-96) = 61

@ a) (+43) - (-25) = 68 b) (-43) - (#57) = -100
9 (o) - (-80) = 14 V39 - (59 = g
® (.45 - (+22) = 67 D ey - (12 = a1

@ a) (+30) - (-21) = 51 b) (-24) - (+37) = -61
© [(-65) - (-23) = -42 D (ra0) - (-57) = 97
®) (.46) - = -73 ) - D ©
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